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Note : This paper is of thirty (30) marks containing three 

(3) sections A, B, and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= rhl ¼30½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa  ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of seven and half 1
2

(7 )  marks each. 

Learners are required to answer two (02) questions 

only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s lkr 1
2

(7 )   vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What is pollution ? Discuss  water pollution and its 

impact on environment in detail. 

iznw”k.k D;k gS \ ty iznw”k.k ,oa blds i;kZoj.k ij iM+us 

okys izHkkoksa dks foLrkjiwoZd le>kb,A 

2. What do you understand by factors of locality ? 

Explain climatic factors in detail. 

LFkyh; dkjdksa ls vki D;k le>rs gSa \ tyok;qoh; dkjdksa 

dh foLrkj ls foospuk dhft,A 

3. Describe secondary succession with special reference 

to forests. 

ouksa ds fo’ks”k ifjizs{; eas f}rh;d vuqØe.k dk o.kZu 

dhft,A 

4. Define Primary Productivity. How will you determine 

the primary productivity of a forest ? 

izkFkfed mRikndrk dh ifjHkk”kk nhft,A fdlh ou dh 

izkFkfed mRikndrk vki dSls Kkr djsaxs \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of two and half 1
2

(2 )  marks each. 

Learners are required to answer four (04) questions 

only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ 1
2

(2 )  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

Answer the questions in brief : 

la{ksi esa mŸkj nhft, % 

1. Difference between autoecology and syneocology. 

LoikfjfLFkfrdh rFkk la;qDr ikfjfLFkfrdh esas vUrjA 

2. Climate climax. 

tyok;q dk”BA 

3. Forest Hydrology. 

ou gkbMªksykWthA 

4. Causes of air pollution. 

ok;q iznw”k.k ds dkjdA 

5. Discuss global warming in brief. 

oSf’od rkieku o`f) dh laf{kIr ppkZ dhft,A 

6. National parks and their role in conservation. 

jk”Vªh; m|ku ,oa laj{k.k esa mudh HkwfedkA 

7. Forest fires. 

oukfXuA 

8. Write in brief about Energy Flow. 

la{ksi esa ÅtkZ izokg ds ckjs esa fyf[k,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

( )  mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

( )  vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. Density is individuals per unit area. 

izfr {ks= bdkbZ esa ,dyksa dh la[;k dks ?kuRo dgrs gSaA 

2. Secondary succession occurs on base rocks. 

f}rh;d vuqØe.k [kkyh pêku ij gksrk gSA 

3. About 90% of the total biomass produced on earth is in 

oceans. 

i`Foh ij dqy tSoHkkj dk yxHkx 90% leqnz ds }kjk iSnk 

gksrk gSA 

4. Plants that use other plants as substrate to grow but do 

not take food from other plants are called parasites. 

og ikni tks vU; ikni dks mxus ds fy, vk/kkj ds :i esa 

iz;ksx djrs gSa] ysfdu  muls Hkkstu ugha ysrs] ijthoh 

dgykrs gSaA 

5. Mycorrhiza is an example of competition. 

ekbdksjkbZtk Li/kkZ dk ,d mnkgj.k gSA 
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Choose the correct alternative. 

lgh fodYi pqfu,A 

6. pH value of acidic soils is less than ....... 

(a) 9.0 

(b) 7.0 

(c) 10.0 

(d) 8.0 

vEyh; e`nkvksas dk ih&,p- 
------------------ 

 ls de gksrk gSA 

¼v½ 9-0 

¼c½ 7-0 

¼l½ 10-0 

¼n½ 8-0 

7. Path of chemicals in the ecosystem is : 

(a) Linear 

(b) Cyclic 

(c) Both (a) and (b) 

(d) Linear and two-way  

ikfjfLFkfrd ra= eas jlk;uksa dk ekxZ gksrk gS % 

¼v½ lh/kk 

¼c½ pØh; 

¼l½ ¼v½ ,oa ¼c½ nksuksa 

¼n½ lh/kk ,oa f}pØh; 
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8. World Forestry Day is celebrated on : 

(a) 21 March 

(b) 21 May 

(c) 21 September 

(d) 21 December 

fo’o okfudh fnol fdl fnu euk;k tkrk gS \ 

¼v½ 21 ekpZ 

¼c½ 21 ebZ 

¼l½ 21 flrEcj  

¼n½ 21 fnlEcj 

9. Biodiversity is lowest in : 

(a) Lake  

(b) Desert 

(c) Forest 

(d) River 

U;wure tSofofo/krk fdlesa ikbZ tkrh gS \ 

¼v½ >hy 

¼c½ jsfxLrku 

¼l½ ou 

¼n½ unh 

10. The process of eating and being eaten is called : 

(a) Food web 

(b) Tropic level  

(c) Food chain 

(d) All of the above 
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[kkus ,oa [kk;s tkus dh izfØ;k dgykrh gS % 

¼v½ [kk| tky 

¼c½ [kk| Lrj 

¼l½ [kk| Ük`a[kyk 

¼n½ mi;qZDRk lHkh 
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